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^r Hw$N> Z {bI| AÝ`Wm OMR  erQ> H$m _yë`m§H$Z Zht {H$`m Om`oJm &

	9.	 narjm g_mpßV Ho$ CnamÝV Ho$db Amo.E_.Ama. CÎma-erQ> >Ed§ àíZ nwpñVH$m H$s H$ìha 
noO drjH$ H$mo gm¢nZr h¡& CÎma-erQ> H$s H$m~©Z H$m°nr VWm àíZ-nwpñVH$m narjmWu AnZo 
gmW bo Om gH$Vo h¢ &
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				   gm_mÝ` J{UV	 –	 21 – 50
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	 ^mJ - (J)	 H$åß`yQ>a H$m gm_mÝ` OmZH$mar	 –	 131 – 150

11.	 `{X A§J«oOr ^mfm _| H$moB© g§Xoh h¡, Vmo {hÝXr ^mfm H$mo hr àm_m{UH$ _mZm Om òJm Ÿ&

instructionS To candidates

	 1.	 Immediately after getting the booklet read instructions carefully, 
mentioned on the front and back page of the question booklet and 
do not open the seal given on the right hand side of the question 
booklet, unless asked by the invigilator.

	 2.	 Write your Roll No., Answer-Sheet No., in the specified places 
given above and put your signature.

	 3.	 Make all entries in the OMR Answer-Sheet as per the given 
instructions otherwise Answer-Sheet will not be evaluated.

	 4.	 After Opening the seal, ensure that the Question Booklet 
contains total no. of pages as mentioned above and printing 
of all the 150 questions is proper. If any discrepancy is found, 
inform the invigilator within 15 minutes and get the correct 
booklet.

	 5.	 While answering the question from the Question Booklet, for each 
question choose the correct/most appropriate option out of four 
options given, as answer and darken the circle provided against 
that option in the OMR Answer-Sheet, bearing the same serial 
number of the question. Darken the circle only with Black or Blue 
ball point pen.

	 6.	 Darken the circle of correct answer properly, otherwise answers 
will not be evaluated. The candidate will be fully responsible for it.

	 7.	 There are 150 objective type questions in this Question Booklet.  
1 mark is allotted for each correct answer and � mark will be 
deducted for each wrong answer.

	 8.	 Do not write anything anywhere in the Question Booklet and 
the Answer-Sheet except making entries in the specified places 
otherwise OMR Sheet will not be evaluated.

	 9.	 After completion of the examination, only OMR Answer Sheet 
and cover page of question booklet is to be handed over to the 
invigilator. Carbon copy of the Answer Sheet and Question Booklet 
may be taken away by the examinee.

	10.	 This Question Paper consists of Parts namely :
	 Part – (A)	 Hindi with Grammar	 –	 1 – 10
				   General English	 –	 11 – 20
				   General Mathematics	 –	 21 – 50
	 Part – (B)	 (A)	 General Mental Aptitude	 –	 51 – 65
				   (B)	 General Knowledge	 –	 66 – 100
				   (C)	 Current Affairs, Sports,	 –	 101 – 115
					    National-International
				   (D)	 General Knowledge of State	 –	 116 – 130
	 Part – (C)	 General Knowledge of Computer	 –	 131 – 150

	11.	 In case of any ambiguity in English version, the Hindi version shall 
be considered authentic.
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	 1.	 "Zr{V`wŠV' _| H$m¡Z-gm g_mg h¡ ?
	 (A)	 H$_© VËnwéf	 (B)	 H$aU VËnwéf
	 (C)	 gåàXmZ VËnwéf	 (D)	 gå~ÝY VËnwéf

	 2.	 "XodoÝÐ' {H$g gpÝY H$m CXmhaU h¡ ?
	 (A)	 XrK© ñda gpÝY
	 (B)	 JwU ñda gpÝY
	 (C)	 d¥{Õ ñda gpÝY
	 (D)	 `U ñda gpÝY

	 3.	 "JUVÝÌ' H$m {dbmo_ eãX h¡

	 (A)	 àOmVÝÌ

	 (B)	 bmoH$VÝÌ

	 (C)	 amOVÝÌ

	 (D)	 Cn`©wŠV _| go H$moB© Zht

	 4.	 "Z{_Vm H$s H$VaZr gr O~mZ Mb ahr Wr & V^r 
A{_Vm Zo CgHo$ gmW Hw$N> H$mZm\y±$gr H$s & Bgo 
gwZH$a Z{_Vm H$s ~mobVr ~§X hmo J`r, Am±Io nWam 
J`r Am¡a Mohao H$s a§JV C‹S> J`r &' Bg CÕaU _| 
_whmdam| H$s Hw$b g§»`m                    h¡ &

	 (A)	 4	 (B)	 5

	 (C)	 6	 (D)	 3

	 5.	 "_¢ BgH$m dh AW© Zht bJmVm, Omo {H$ Amn bJmVo 
h¢ &' Bg dmŠ` _| {ZåZ _| go H$m¡Z-gm Xmof h¡ ?

	 (A)	 nXH«$_ Xmof

	 (B)	 A{YH$ nXËd Xmof

	 (C)	 H${WV nXËd Xmof

	 (D)	 H$moB© Xmof Zht h¡

	 6.	 "AmbnrZ' {H$g ^mfm H$m eãX h¡ ?

	 (A)	 {hÝXr

	 (B)	 A§J«oOr

	 (C)	 nwV©Jmbr

	 (D)	 MrZr

	 7.	 gmd©Zm{_H$ {deofU Ho$ {H$VZo ^oX h¢ ?
	 (A)	 EH$
	 (B)	 Xmo
	 (C)	 VrZ
	 (D)	 Mma

	 8.	 {ÛH$_©H$ {H«$`m {H$VZo H$_© dmbr hmoVr h¢ ?
	 (A)	 Xmo
	 (B)	 EH$
	 (C)	 VrZ
	 (D)	 Mma

	 9.	 dV©Zr h¡
	 (A)	 _mÌm
	 (B)	 Üd{Z
	 (C)	 {bIZo H$s ar{V
	 (D)	 CÀMmaU H$m VarH$m

	 10.	 "A{YH$mar dJ©' - `h eãX h¡
	 (A)	 ~hþdMZ
	 (B)	 EH$dMZ
	 (C)	 {ÛdMZ
	 (D)	 Cn`w©ŠV _| go H$moB© Zht
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	 11.	 We had some very pleasant times in 
Florida.

		  In the above sentence the phrase 
‘some very pleasant times’ is an 
example of 

	 (A)	 Prepositional phrase
	 (B)	 Verb phrase
	 (C)	 Noun phrase
	 (D)	 Adverb phrase
	 12.	 Choose the wrongly spelled word 

(according to British English).
	 (A)	 Shelfs	 (B)	 Buffaloes
	 (C)	 Amplifier	 (D)	 awful
	 13.	 Read the following sentences :
	 i.	 Dogs make good pets.
	 ii.	 Bring in the dogs.
		  Choose the most appropriate answer 

regarding the use or absence of 
articles in the above sentences :

	 (A)	 Only i
	 (B)	 Only ii
	 (C)	 Both are incorrect
	 (D)	 Both are correct
	 14.	 The protesters were demonstrating 

noisily outside the White House.
		  In the above sentence the words ‘noisily’ 

and ‘outside the White House’ are 
(choose the most appropriate answer)

	 (A)	 Both are adverbials
	 (B)	 Both are adjectives
	 (C)	 ‘noisily’ is adjective and ‘outside 

the White House’ is adverbial
	 (D)	 ‘noisily’ is adverb and ‘outside the 

white House’ is adjective
	 15.	 Choose the word which is not an 

appropriate synonym of the word 
‘hit’.

	 (A)	 Knock	 (B)	Bang
	 (C)	 Bash	 (D)	None of the above

	 16.	 Choose the word which is most 
appropriate antonym of the word 
‘wane’.

	 (A)	 Waste	 (B)	 Wax
	 (C)	 Wanton	 (D)	 Wand

	 17.	 Rahul said to me, ‘‘We are mortal.’’
		  Choose the correct transformation of the 

above sentence into indirect narration.
	 (A)	Rahul said to me that we are mortal.
	 (B)	Rahul said to me that we were mortal.
	 (C)	Rahul says to me that we are mortal.
	 (D)	Rahul said to me that he and I were 

mortal.

	 18.	 The new management has offered 
employees a better deal.

		  Choose the correct transformation 
of the above sentence into passive 
form.

	 (A)	 Employees had been offered 
a better deal by the new 
management

	 (B)	 Employees has been offered 
a better deal by the new 
management

	 (C)	 Employees have been offered 
a better deal by the new 
management

	 (D)	 Employees were offered a better 
deal by the new management

	 19.	 You can sleep for an hour after you 
finish lunch.

		  In the above sentence the word ‘after’ 
is used as

	 (A)	 Preposition
	 (B)	 Adjective
	 (C)	 Subordinating conjunction
	 (D)	 Coordinating conjunction

	 20.	 _____ that time I was feeling sleepy.
		  Choose the most appropriate preposition 

to fill in the blank in the above sentence.
	 (A)	 than	 (B)	 between
	 (C)	 by	 (D)	 below
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	 21.	 If the number 48327 ∗ 8 is completely 
divisible by 11, then the value of ∗ will be 

	 (A)	 5 	 (B)	 3
	 (C)	 2	 (D)	 1

	 22.	 If a + b + c = 9 and ab + bc + ca = 23, 
then the value of a3 + b3 + c3 – 3abc 
will be 	

	 (A)	 108	 (B)	 207
	 (C)	 669	 (D)	 723

	 23.	 If a polynomial f(x) is divided by  
(2x + 3), then the remainder will be 

	 (A)	 f
2
3







 	 (B)	 f

−







2
3

	 (C)	 f
3
2







 	 (D)	 f

−







3
2

	 24.	 Length of one diagonal of a rhombus is 
75% of that of second diagonal. Area 
of this rhombus is how many times the 
square of the smaller diagonal ?	

	 (A)	
2
3 	 (B)	

3
8

	 (C)	
3
2

	 (D)	
8
3

	 25.	 Sum of areas of all faces of a cube is 3750 
square meter, then what will be the sum 
of length of all edges of that cube ?	

	 (A)	 225 m	 (B)	 125 m
	 (C)	 300 m	 (D)	 325 m

	 26.	 If the volume of a sphere is divided by 
its surface area, the result is 27 cm, 
then the radius of the sphere is	

	 (A)	 9 cm	 (B)	 27 cm
	 (C)	 81 cm	 (D)	 243 cm

	 21.	 `{X g§»`m 48327 ∗ 8 nyU©V`m 11 go {d^ŠV  
hmo, Vmo ∗ H$m _mZ hmoJm 

	 (A)	 5 	 (B)	 3
	 (C)	 2	 (D)	 1

	 22.	 `{X a + b + c = 9 VWm ab + bc + ca = 23 
hmo, Vmo a3 + b3 + c3 – 3abc H$m _mZ hmoJm 

	 (A)	 108	 (B)	 207
	 (C)	 669	 (D)	 723

	 23.	 `{X EH$ ~hþnX f(x) H$mo (2x + 3) go ^mJ Xo, Vmo 
eof\$b Š`m hmoJm ? 

	 (A)	 f
2
3







 	 (B)	 f

−







2
3

	 (C)	 f
3
2







 	 (D)	 f

−







3
2

	 24.	 EH$ g_MVŵ w©O Ho$ EH$ {dH$U© H$s bå~mB©, Xÿgao {dH$U© 
H$s bå~mB© H$m 75% h¡ & Bg g_MVŵ w©O H$m joÌ\$b 
N>moQ>o {dH$U© Ho$ dJ© H$m {H$VZm JwZm h¡ ?

	 (A)	
2
3 	 (B)	

3
8

	 (C)	
3
2

	 (D)	
8
3

	 25.	 EH$ KZ Ho$ g^r gVhm| Ho$ joÌ\$bm| H$m ̀ moJ 3750 
dJ© _rQ>a h¡, V~ Cg KZ Ho$ g^r {H$Zmam| H$s 
bå~mB`m| H$m `moJ {H$VZm hmoJm ?

	 (A)	 225 >_r	 (B)	 125 _r
	 (C)	 300 _r	 (D)	 325 _r

	 26.	 `{X {H$gr Jmobo Ho$ Am`VZ H$mo CgHo$ n¥îR> joÌ\$b 
go {d^m{OV {H$`m Om`o, Vmo n[aUm_ 27 go_r hmoVm 
h¡, Vmo Jmobo H$s {ÌÁ`m hmoJr 

	 (A)	 9  go_r	 (B)	 27  go_r
	 (C)	 81  go_r	 (D)	 243  go_r
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	 27.	 What is the value of expression 
		  1

1

2
1

1

3
1

1

4
1

1

19
1

1

202 2 2 2 2−





 −





 −





 −






 −



...

  ?

	 (A)	 0.522 	 (B)	 0.552
	 (C)	 0.525	 (D)	 0.555
	 28.	 The L.C.M. of two multiples of 12 is 

1056. If one of the numbers is 132, 
then what will be other number from 
among the following ?	

	 (A)	 12	 (B)	 72
	 (C)	 96	 (D)	 84

	 29.	 If x =
3

2
, then the value of 

		
1 1

1 1

+ + −( )
+ − −( )

x x

x x
 will be 

	 (A)	 − 3 	 (B)	 – 1 
	 (C)	 1 	 (D)	 3

	 30.	 An amount becomes four times in  
20 years from simple interest. What is 
the annual rate of interest ?	

	 (A)	 6%	 (B)	 6
2
3

%

	 (C)	 5%	 (D)	 10%

	 31.	 If cost price of 60 commodities is equal 
to the selling price of 40 commodities, 
then what is the profit percentage ?

	 (A)	 40%	 (B)	 50%

	 (C)	 20%	 (D)	 33
1
3

%

	 32.	 A pair of opposite angles of a 
parallelogram are 5x – 10° and  
2x + 110°, then value of x is	

	 (A)	 30°	 (B)	 40°
	 (C)	 20°	 (D)	 10°

	 27.	 {ZåZ H$m _mZ hmoJm 
		  1

1

2
1

1

3
1

1

4
1

1

19
1

1

202 2 2 2 2−





 −





 −





 −






 −



...



	 (A)	 0.522 	 (B)	 0.552
	 (C)	 0.525	 (D)	 0.555

	 28.	 12 Ho$ Xmo JwUOm| H$m bKwÎm_ g_mndË ©̀ 1056 h¡ & 
`{X BZ_| go EH$ g§»`m 132 hmo, Vmo Xÿgar g§»`m 
{ZåZ _| go Š`m hmoJr ? 

	 (A)	 12	 (B)	 72
	 (C)	 96	 (D)	 84

	 29.	 `{X x =
3

2 , Vmo 
1 1

1 1

+ + −( )
+ − −( )

x x

x x

		  H$m _mZ hmoJm 

	 (A)	 − 3 	 (B)	 – 1 
	 (C)	 1 	 (D)	 3

	 30.	 H$moB© YZ gmYmaU ã`mO H$s Xa go 20 df© _| Mma 
JwZm hmo OmVm h¡ & ã`mO H$s dm{f©H$ Xa Š`m h¡ ?

	 (A)	 6%	 (B)	 6
2
3

%

	 (C)	 5%	 (D)	 10%

	 31.	 `{X 60 dñVwAm| H$m H«$` _yë` 40 dñVwAm| Ho$ {dH«$` 
_yë` Ho$ ~am~a hmo, Vmo bm^ à{VeV {H$VZm h¡ ?

	 (A)	 40%	 (B)	 50%

	 (C)	 20%	 (D)	 33
1
3

%

	 32.	 EH$ g_mÝVa MVŵ w©O Ho$ gå_wI H$moUm| H$m EH$ Omo‹S>m 
5x – 10° VWm 2x + 110° h¡, V~ x H$m _mZ h¡

	 (A)	 30°	 (B)	 40°
	 (C)	 20°	 (D)	 10°



a\$  H$m`©  Ho$ {bE ñWmZ
Space for Rough Work

		  	 01223/NC – NJ/RCE – M

	 -7-	 Set-A

	 33.	 If l || m, then ∠1 + ∠2 =	

		
	 (A)	 60°	 (B)	 120°
	 (C)	 90°	 (D)	 180°

	 34.	 P sells an item purchased in Rs. 6,000 
to Q by taking 30% profit. Q expenses 
Rs. 200 on decoration of that item and 
sells to R by taking 40% profit. R sells 
that item to S by getting 10% loss, then 
how much S had paid ?	

	 (A)	 Rs. 7,800	 (B)	 Rs. 11,200
	 (C)	 Rs. 10,080	 (D)	 None of these

	 35.	 In the following figure, ∠BAC + ∠BDC =
A D

B C

120°

O

	 (A)	 60°	 (B)	 120°
	 (C)	 90°	 (D)	 30°

	 36.	 9 numbers are arranged in a sequence. 
Average of first five numbers is 15 
and last five numbers is 16. If the fifth 
number from beginning is 20, then the 
average of all the 9 numbers is 

	 (A)	 15	 (B)	 16

	 (C)	 20 	 (D)	 Data insufficient 

	 33.	 `{X l || m, V~ ∠1 + ∠2 =

		
	 (A)	 60°	 (B)	 120°
	 (C)	 90°	 (D)	 180°

	 34.	 P, 6,000 é. _| H«$` H$s J`r dñVw H$mo 30% bm^ 
boH$a Q H$mo ~oM XoVm h¡ & Cg dñVw Ho$ gOmdQ> na 
200 é. IM© H$a Q Cg dñVw H$mo 40% bm^ boH$a 
R H$mo ~oM XoVm h¡ & R Cgo 10% hm{Z CR>mH$a S H$mo 
~oM XoVm h¡, V~ S H$mo {H$VZm ŵJVmZ H$aZm n‹S>m ?

	 (A)	 7,800 é.	 (B)	 11,200 é.
	 (C)	 10,080 é.	 (D)	 BZ_| go H$moB© Zht

	 35.	 {ZåZ {MÌ _| ∠BAC + ∠BDC =
A D

B C

120°

O

	 (A)	 60°	 (B)	 120°
	 (C)	 90°	 (D)	 30°

 	36.	 9  g§»`mAm| H$mo EH$ AZwH«$_ _| ì`dpñWV {H$`m 
J`m h¡ & àW_ nm±M g§»`mAm| H$m Am¡gV 15 h¡ VWm 
A§{V_ nm±M g§»`mAm| H$m Am¡gV 16 h¡ & ̀ {X àmaå^ 
go nm±Mdt g§»`m 20 h¡, V~ g^r 9 g§»`mAm| H$m 
Am¡gV h¡ 

	 (A)	 15	 (B)	 16

	 (C)	 20	 (D)	 Am±H$‹S>m An`m©ßV
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	 37.	 In a sequence of 11 numbers 
		  a1, a2, ..., a11, it is given that 
		  a1 + a11 = – 2, a2 + a10 = 3, a3 + a9 =  –7, 

a4 +  a8 = 11, a5 + a7 = – 6, a6 = 12, 
then the average of a1, a2, ..., a11 is 

	 (A)	 11	 (B)	 12
	 (C)	 1	 (D)	 0

	 38.	 P travels 80 Km in 1 hour 20 minutes 
while Q travels 120 Km in 2 hours  
40 minutes and R travels 100 km with 
speed equal to the average speed 
of P and Q. Then time taken by R to 
complete his journey is 

	 (A)	 1 hour 19 minutes 
	 (B)	 1 hour 20 minutes
	 (C)	 1 hour 54.29 minutes approx.
	 (D)	 1 hour 53 minutes approx.

	 39.	 Two men A and B run 100 meters 
in 11.25 seconds and 12.5 seconds 
respectively. If they start together, 
then how far was B from the finish line, 
when A completed his 100 meters ?

	 (A)	 10 meters	 (B)	 12 meters
	 (C)	 14 meters	 (D)	 16 meters

	 40.	 Two trains of same lengths are running 
in the same direction on parallel track 
with the speed 46 km/hr and 36 km/hr 
respectively. Fast train surpasses slow 
train in 36 seconds, then lengths of 
each train is	

	 (A)	 50 meter	
	 (B)	 72 meter
	 (C)	 80 meter	
	 (D)	 82 meter

	 37.	 11 g§»`mAm| a1, a2, ..., a11 Ho$ EH$ AZwH«$_ 
_|, `h {X`m J`m h¡ {H$ a1 + a11 = – 2,  
a2 + a10 = 3, a3 + a9 =  –7, a4 +  a8 = 11, 
a5 + a7 = – 6, a6 = 12, V~  
a1, a2, ..., a11 H$m Am¡gV h¡ 

	 (A)	 11	 (B)	 12
	 (C)	 1	 (D)	 0

	 38.	 P, 80 {H$_r 1 K§Q>m 20 {_ZQ> _| MbVm h¡ O~{H$ 
Q, 120 {H$_r 2 K§Q>m 40 {_ZQ _| MbVm h¡ VWm 
R, 100 {H$_r P VWm Q H$s Mmbm| Ho$ Am¡gV Mmb 
go MbVm h¡ & V~ R Ûmam `mÌm nyam H$aZo _| {b`m 
J`m g_` h¡ 

	 (A)	 1 K§Q>m 19 {_ZQ> 
	 (B)	 1 K§Q>m 20 {_ZQ>
	 (C)	 1 K§Q>m 54.29  {_ZQ> bJ^J
	 (D)	 1 K§Q>m 53 {_ZQ> bJ^J

	 39.	 100 _rQ>a Xm¡‹S> H$mo Xmo ì`pŠV A VWm B H«$_e: 
11.25 goHo$ÊS> VWm 12.5 goHo$ÊS> _| nyU© H$aVo 
 h¢ & `{X dh XmoZm| gmW _| Xm¡‹S> àma§^ H$aVo h¡, Vmo 
B bú` go {H$VZm nrN>o Wm, O~ 100 _rQ>a H$s 
Xm¡‹S> H$mo A nyU© H$a boVm h¡ ?

	 (A)	 10 _rQ>a>	 (B)	 12 _rQ>a
	 (C)	 14 _rQ>a	 (D)	 16 _rQ>a

	 40.	 g_mZ b§~mB© H$s Xmo aobJm{‹S>`m± g_m§Va bmBZm| 
na EH$ hr {Xem _| H«$_e: 46 {H$_r/K§Q>m VWm  
36 {H$_r/K§Q>m H$s J{V go Mb ahr h¢ & VoO MbZo dmbr 
aobJm‹S>r Yr_r aobJm‹S>r go 36 goHo$ÊS> _| AmJo {ZH$b 
OmVr h¡& àË òH$ aobJm‹S>r H$s b§~mB© {H$VZr h¡ ?

	 (A)	 50 _rQ>a>
	 (B)	 72 _rQ>a
	 (C)	 80 _rQ>a
	 (D)	 82 _rQ>a
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	 41.	 A person has to return Rs. 3,540 for 
taking Rs. 3,000 for 3 years, Rs. 6,720 
for taking Rs. 6,000 for 2 years and  
Rs. 6,500 for taking Rs. 5,000 for  
5 years, then which type of interest he 
is being charged ?	

	 (A)	 Simple interest
	 (B)	 Compound interest
	 (C)	 Mixed interest
	 (D)	 None of these

	 42.	 The value of x4 + 4 is equal to 
	 (A)	 (x2 + 2)2

	 (B)	 (x2 + 2) (x2 – 2) 
	 (C)	 (x2 + 2 + 2x) (x2 + 2 – 2x)
	 (D)	 None of the above 

	 43.	 How many solutions the simultaneous 
equations has ?

		  2x + 5y = 17
		  5x + 3y = 14 
	 (A)	 Unique solution 
	 (B)	 Only two solutions 
	 (C)	 Infinite solutions
	 (D)	 No solution 

	 44.	 Speed of a stream is 2 km/hr. A man 
takes twice as long to row against the 
stream than along the stream. Then 
what is the speed of the man in still 
water ? 

	 (A)	 6 km/hr. 	 (B)	 4 km/hr.
	 (C)	 10 km/hr.	 (D)	 8 km/hr.
	 45.	 A man crosses a standing train in  

30 minutes and the same train, when 
that person is standing, crosses that 
man in 5 minutes. Then the ratio of 
speeds of that person and that train is 

	 (A)	 6 : 1 	 (B)	 1 : 6 
	 (C)	 2 : 5 	 (D)	 5 : 2 

	 41.	 EH$ ì`pŠV H$mo 3,000 é. 3 df© Ho$ {bE boZo na 
3,540 é, 6,000 é. 2 df© Ho$ {bE boZo na 6,720 é., 
VWm 5,000 é. 5 df© Ho$ {bE boZo na 6,500 é. 
dmng H$aZm n‹S>Vm h¡, V~ Cgo {H$g àH$ma H$m ã`mO 
bJ ahm h¡ ?

	 (A)	 gmYmaU ã`mO>
	 (B)	 MH«$d¥{Õ ã`mO
	 (C)	 {_{lV ã`mO
	 (D)	 BZ_| go H$moB© Zht

	 42.	 x4 + 4 H$m _mZ {H$gHo$ ~am~a hmoJm ? 
	 (A)	 (x2 + 2)2

	 (B)	 (x2 + 2) (x2 – 2) 
	 (C)	 (x2 + 2 + 2x) (x2 + 2 – 2x)
	 (D)	 CnamoŠV _| go H$moB© Zht 

	 43.	 `wJnV² g_rH$aU  2x + 5y = 17,   
5x + 3y = 14 Ho$ {H$VZo hb h¢ ? 

	 (A)	 A{ÛVr` hb 
	 (B)	 Ho$db Xmo hb 
	 (C)	 AZÝV hb 
	 (D)	 H$moB© Zht 

	 44.	 EH$ ZXr H$m àdmh 2 {H$_r/K§Q>m h¡ & EH$ ì`pŠV 
H$mo ZXr Ho$ àdmh Ho$ {déÕ IoZo _| CgHo$ àdmh Ho$ 
gmW IoZo go XþJwZm g_` bJVm h¡& ì`pŠV H$s pñWa 
Ob _| IoZo H$s Xa Š`m h¡ ? 

	 (A)	 6 {H$_r/K§Q>m	 (B)	 4 {H$_r/K§Q>m
	 (C)	 10 {H$_r/K§Q>m	 (D)	 8 {H$_r/K§Q>m
	 45.	 EH$ ì`pŠV EH$ I‹S>r aobJm‹S>r H$mo 30 {_ZQ> _| nma H$aVm 

h¡ VWm dhr aobJm‹S>r, O~ dh ì`pŠV I‹S>m ahVm h¡, 
Cg ì`pŠV H$mo 5 {_ZQ> _| nma H$a OmVr h¡ & V~ Cg 
ì`pŠV Ed§ Cg aobJm‹S>r H$s Mmbm| H$m AZwnmV h¡ 

	 (A)	 6 : 1 	 (B)	 1 : 6 
	 (C)	 2 : 5 	 (D)	 5 : 2 
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	 46.	 150 meter train passes a pole in  
15 seconds and crosses another train 
of same length, travelling in opposite 
direction in 8 seconds. Then what is 
the speed of another train ? 	

	 (A)	 99 km/hr.	 (B)	 72 km/hr.
	 (C)	 66 km/hr.	 (D)	 60 km/hr.

	 47.	 The value of 0 064 1 213 . .+  will be 

	 (A)	 1.26 	 (B)	 1.274
	 (C)	 1.5	 (D)	 2.7

	 48.	 If a : b = 3 : 4 and b : c = 5 : 6, then  
(a + b) : (b + c) = 	

	 (A)	 5 : 8	 (B)	 35 : 44
	 (C)	 5 : 6	 (D)	 7 : 11

	 49.	 How much subtracted from  
25, 35, 45, 105 so that these 
numbers become proportionate ?	

	 (A)	 9	 (B)	 10
	 (C)	 20	 (D)	 21

	 50.	 In the following figure, 
∠1 + ∠2 – ∠3 =

	 (A)	 70°	 (B)	 120°
	 (C)	 130°	 (D)	 30°

	

	 46.	 150 _rQ>a b§~r aobJm‹S>r EH$ Iå^o H$mo 15 goH|$S 
_| VWm CVZr hr b§~r EH$ Xÿgar aobJm‹S>r Omo {dnarV 
{Xem _| Mb ahr h¡, 8 goH|$S _| nma H$a OmVr h¡ & 
Vmo Xÿgar aobJm‹S>r H$s Mmb Š`m h¡ ? > 

	 (A)	 99 {H$_r/K§Q>m 	 (B)	 72 {H$_r/K§Q>m
	 (C)	 66 {H$_r/K§Q>m	 (D)	 60 {H$_r/K§Q>m

	 47.	 0 064 1 213 . .+  H$m _mZ hmoJm 

	 (A)	 1.26 	 (B)	 1.274
	 (C)	 1.5	 (D)	 2.7

	 48.	 `{X a : b = 3 : 4 VWm b : c = 5 : 6, V~  
(a + b) : (b + c) =

	 (A)	 5 : 8	 (B)	 35 : 44
	 (C)	 5 : 6	 (D)	 7 : 11

	 49.	 25, 35, 45, 105 _| go Š`m KQ>m`m Om` Vm {H$ 
ZB© g§»`mE± g_mZwnmVr hmo ?

	 (A)	 9	 (B)	 10
	 (C)	 20	 (D)	 21

	 50.	 {ZåZ {MÌ _| ∠1 + ∠2 – ∠3 =

	 (A)	 70°	 (B)	 120°
	 (C)	 130°	 (D)	 30°
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	 51.	 If the word ‘ZEBRA’ is coded as ‘WBYAJ’ 
in certain code language. What should be 
the code for ‘HORSE’ in that code ?

	 (A)	 MITIW	 (B)	 MWITI
	 (C)	 MTIWI	 (D)	 MJTKP

	 52.	 In a certain code ‘134’ means ‘good and 
tasty’. ‘478’ means ‘see good pictures’ 
and ‘729’ means ‘pictures are faint’. 
How is ‘see’ written in that code ?

	 (A)	 9	 (B)	 1
	 (C)	 8	 (D)	 2

	 53.	 What is the minimum number of straight 
lines that is needed to construct the 
following figure ?

	 	 		

	 (A)	 11	 (B)	 14
	 (C)	 16	 (D)	 17

	 54.	 Using the following figures, find how 
many points will appear on the opposite 
to face containing 5 points ?

		  			 

	 (A)	 1	 (B)	 2
	 (C)	 3	 (D)	 4

	 51.	 `{X {H$gr gm§Ho${VH$ ^mfm _| eãX ‘ZEBRA’ H$m 
H$moS> ‘WBYAJ’ h¡, Vmo Cgr H$moS> _| ‘HORSE’ 
Ho$ {bE Š`m H$moS> hmoZm Mm{hE ?

	 (A)	 MITIW	 (B)	 MWITI
	 (C)	 MTIWI	 (D)	 MJTKP

	 52.	 `{X {H$gr gm§Ho${VH$ ^mfm _| ‘134’ H$m _Vb~ 
‘good and tasty’ h¡ & ‘478’ H$m  _Vb~ 
‘see good pictures’ h¡ Am¡a ‘729’ H$m _Vb~ 
‘pictures are faint’ h¡ & Vmo Cg H$moS> _| ‘see’ 
H$mo H¡$go {bI|Jo ? 

	 (A)	 9	 (B)	 1
	 (C)	 8	 (D)	 2

	 53.	 {ZåZm§{H$V AmH¥${V H$mo ~ZmZo _| Ý`yZV_ {H$VZr 
g§»`m _| grYr aoIm H$s Amdí`H$Vm hmoJr ?

		  		

	 (A)	 11	 (B)	 14
	 (C)	 16	 (D)	 17

	 54.	 {ZåZm§{H$V {MÌm| H$m Cn`moJ H$a kmV H$s{OE {H$ 
5 q~XþAm| dmbo \$bH$ Ho$ {dnarV \$bH$ _o§ {H$VZo 
q~Xþ hm|Jo ? 

	 	 			 

	 (A)	 1	 (B)	 2
	 (C)	 3	 (D)	 4

PART – B/ ^mJ - I
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	 55.	 Choose the correct mirror image of the 
Fig. (X).

		
		       Fig. (X)

	 (A)	 	 (B)	

	 (C)	 	 (D)	

	 56.	 Four positions of a dice are given below. 
Which sign will be opposite to ‘+’ ?

		
	 (A)	 %	 (B)	 –
	 (C)	 ×	 (D)	 $

	 57.	 Which letter will come into blank space ?

B G N

D J R

G N

	 (A)	 U	 (B)	 V
	 (C)	 W	 (D)	 X

	 58.	 Find the missing number.

		
	 (A)	 13	 (B)	 15
	 (C)	 17	 (D)	 19

	 55.	 AmH¥${V (X) Ho$ ghr Xn©U à{Vq~~ H$mo Mw{ZE &

		
		    AmH¥${V (X)

	 (A)	 	 (B)	

	 (C)	 	 (D)	

	 56.	 EH$ nmgo H$s Mma pñW{V`m± ZrMo Xr JB© h¢ & ‘+’ Ho$  
{dnarV H$m¡Z-gm {MÝh hmoJm ?

		
	 (A)	 %	 (B)	 –
	 (C)	 ×	 (D)	 $

	 57.	 Imbr ñWmZ _o§ H$m¡Z-gm Aja Am`oJm ?

B G N

D J R

G N

	 (A)	 U	 (B)	 V
	 (C)	 W	 (D)	 X

	 58.	 {dbwßV g§»`m H$mo kmV H$s{OE &

		
	 (A)	 13	 (B)	 15
	 (C)	 17	 (D)	 19
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	 59.	 If + stands for ÷, – for ×, ÷ for + and  
× for –, then 63 × 24 + 8 ÷ 4 + 2 – 3 = ?  

	 (A)	 54	 (B)	 66
	 (C)	 65	 (D)	 48

	 60.	 Find the missing letters.
		  CX, FU, IR, _____
	 (A)	 KP	 (B)	 LP
	 (C)	 KO	 (D)	 LO

	 61.	 Find the missing term.
		  C4X, F9U, I16R, _____
	 (A)	 L25P	 (B)	 L25O
	 (C)	 L27O	 (D)	 L27P

	 62.	

	 	 Literate males, who are doctors are 
represented by

	 (A)	 E	 (B)	 F
	 (C)	 D	 (D)	 G

	 63.	 Choose the odd one out.
	 (A)	 KJMH	 (B)	 PORM
	 (C)	 FEJC	 (D)	 QPSN
	 64.	 Find the missing number.
		  3, 6, 18, 72, _____
	 (A)	 144	 (B)	 216
	 (C)	 288	 (D)	 360

	 65.	 Find the missing number.
		  4320, 720, ____, 36, 12, 6, 6
	 (A)	 144	 (B)	 134
	 (C)	 108	 (D)	 102

	 59.	 `{X + H$m Cn`moJ ÷ Ho$ {bE, – H$m Cn`moJ × Ho$ {bE, 
÷ H$m Cn`moJ + Ho$ {bE Am¡a  × H$m Cn`moJ – Ho$ {bE 
hmo, Vmo 63 × 24 + 8 ÷ 4 + 2 – 3 = ?

	 (A)	 54	 (B)	 66
	 (C)	 65	 (D)	 48

	 60.	 {dbwßV Ajam| H$mo kmV H$s{OE &
		  CX, FU, IR, _____
	 (A)	 KP	 (B)	 LP
	 (C)	 KO	 (D)	 LO

	 61.	 {dbwßV nX H$mo kmV H$s{OE &
	 	 C4X, F9U, I16R, _____
	 (A)	 L25P	 (B)	 L25O
	 (C)	 L27O	 (D)	 L27P

	 62.	

		  {e{jV nwéf, Omo S>m°ŠQ>a h¢ H$mo àX{e©V H$aVm h¡ 

	 (A)	 E	 (B)	 F
	 (C)	 D	 (D)	 G

	 63.	 {^Þ H$mo Mw{ZE &
	 (A)	 KJMH	 (B)	 PORM
	 (C)	 FEJC	 (D)	 QPSN
	 64.	 {dbwßV g§»`m H$mo kmV H$s{OE &
	 	 3, 6, 18, 72, _____
	 (A)	 144	 (B)	 216
	 (C)	 288	 (D)	 360

	 65.	 {dbwßV g§»`m H$mo kmV H$s{OE &
		  4320, 720, _____, 36, 12, 6, 6
	 (A)	 144	 (B)	 134
	 (C)	 108	 (D)	 102
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	 66.	 Make correct pairs :
	 1.	 Bringing goods	 a.	 Open trade
		  from foreign		  without
		  country		  restrictions
	 2.	 Sending goods	 b.	 Import
		  to other country
	 3.	 International 	 c.	 Export
		  monetary fund
	 4.	 World trade	 d.	 Internation 
		  organization		  Monetary 	

		  System
	 	 1	 2	 3	 4
	 (A)	 b	 c	 d	 a
	 (B)	 a	 b	 c	 d
	 (C)	 d	 c	 b	 a
	 (D)	 b	 c	 a	 d

	 67.	 The cause of inflation is
	 (A)	 Increase in money supply
	 (B)	 Fall in production
	 (C)	 Both (A) and (B) 
	 (D)	 None of the above

	 68.	 Which of the following is indirect tax ?
	 (A)	 Gift tax	 (B)	 Wealth tax
	 (C)	 Corporate tax	(D)	 Excise duty

	 69.	 To which of the following religion, the 
‘Madhyamika Philosophy’ belongs ?

	 (A)	Vedic Religion	 (B)	 Buddhism
	 (C)	Jainism	 (D)	 Bhagavatism

	 70.	 Who of the following was the author of 
‘India Wins Freedom’ ?

	 (A)	 Jawaharlal Nehru
	 (B)	 Sardar Patel
	 (C)	 M. K. Gandhi
	 (D)	 M. A. K. Azad

	 66.	 C{MV Omo‹S>r ~ZmAmo :
	 1.	 {dXoem| go _mb	 a.	 à{V~§Y a{hV Iwbm
		  _§JmZm		  ~mOma

	 2.	 {dXoem| _| _mb	 b.	 Am`mV
		  ^oOZm
	 3.	 A§Vam©îQ´>r` _wÐm	 c.	 {Z`m©V
		  H$mof
	 4.	 {díd ì`mnma	 d.	 B§Q>aZoeZ _m¡{ÐH$
		  g§JR>Z		  nÕ{V

	 	 1	 2	 3	 4
	 (A)	 b	 c	 d	 a
	 (B)	 a	 b	 c	 d
	 (C)	 d	 c	 b	 a
	 (D)	 b	 c	 a	 d

	 67.	 _wÐmñ\$s{V H$m H$maU h¡
	 (A)	 YZ Amny{Îm© _| d¥{Õ
	 (B)	 CËnmXZ _| {JamdQ>
	 (C)	 (A) Am¡a (B) XmoZm|
	 (D)	 CŠV _| go H$moB© Zht

	 68.	 {ZåZ{b{IV _| go H$m¡Z-gm AàË`j H$a h¡ ?
	 (A)	 Cnhma H$a	 (B)	 g§n{Îm H$a
	 (C)	 H$m°anmoaoQ> H$a	 (D)	 Am~H$mar H$a

	 69.	 {ZåZ{b{IV _| go {H$g Y_© go "_mÜ`{_H$m Xe©Z' 
g§~§{YV h¡ ?

	 (A)	 d¡{XH$ Y_©	 (B)	 ~m¡Õ Y_©
	 (C)	 O¡Z Y_©	 (D)	 ^mJdV Y_©

	 70.	 {ZåZ{b{IV _| go H$m¡Z "B§{S>`m {dÝg \«$sS>_' Ho$ 
boIH$ Wo ?

	 (A)	 Odmhabmb Zohê$
	 (B)	 gaXma nQ>ob
	 (C)	 E_. Ho$. Jm§Yr
	 (D)	 E_. E. Ho$. AmµOmX
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	 71.	 When was the Hirakund project built ?
	 (A)	 1938	 (B)	 1948
	 (C)	 1958	 (D)	 1968

	 72.	 What is correct about Money Bill ?
	 i.	 It can be introduced in Lok Sabha 

only.
	 ii.	 If Lok sabha is dissolved, it may be 

introduced in Rajya Sabha too.
	 iii.	 Rajya Sabha can detain the money 

bill for a period of 14 days.
	 iv.	 The money bill is certified by the 

President.
	 v.	 Rajya Sabha can recommend to 

amend the money bill.

	 (A)	 i, ii, iv	 (B)	 ii, iii, v
	 (C)	 i, iii, v	 (D)	 i, iii, iv

	 73.	 In which matter the 2/3 majority of State 
Legislative Assembly is essential ?

	 (A)	 A resolution to create the State 
Legislative Council in the State

	 (B)	 Constitution Amendment Bill
	 (C)	 A bill which is referred by the 

President
	 (D)	 A bill concerning concurrent list 

of the Constitution
	 74.	 Which of this is the Legislative Power 

of Governor ?
	 (A)	 To summon the session of State 

Legislature
	 (B)	 To prorogue the session of State 

Legislature
	 (C)	 To nominate the members in State 

Legislative Council
	 (D)	 To promulgate ordinance

	 71.	 hramHw$ÊS> n[a`moOZm H$~ ~Zm ?
	 (A)	 1938	 (B)	 1948
	 (C)	 1958	 (D)	 1968

	 72.	 YZ {dYo`H$ Ho$ {df` _| Š`m ghr h¡ ?
	 i.	 `h Ho$db bmoH$g^m _| nwañWm{nV {H$`m Om 

gH$Vm h¡ &
	 ii.	 `{X bmoH$g^m {dK{Q>V hmo, Vmo `h amÁ`g^m 

_| ^r nwañWm{nV {H$`m Om gH$Vm h¡ &
	 iii.	 amÁ`g^m YZ {dYo`H$ H$mo 14 {XZ VH$ amoH$ 

H$a aI gH$Vr h¡ &
	 iv.	 YZ {dYo`H$ amîQ´>n{V Ûmam à_m{UV {H$`m 

OmVm h¡ &
	 v.	 amÁ`g^m YZ {dYo`H$ _| g§emoYZ H$s 

AZwe§gm H$a gH$Vr h¡ &
	 (A)	 i, ii, iv	 (B)	 ii, iii, v
	 (C)	 i, iii, v	 (D)	 i, iii, iv

	 73.	 {H$g {df` _| amÁ` {dYmZ g^m H$m 2/3 ~hþ_V 
Amdí`H$ h¡ ?

	 (A)	 amÁ` _| {dYmZ n[afX H$s ñWmnZm H$m g§H$ën

	 (B)	 g§{dYmZ g§emoYZ {dYo`H$
	 (C)	 amîQ´>n{V Ûmam g§X{^©V {dYo`H$

	 (D)	 g§{dYmZ Ho$ g_dVu gyMr go gå~§{YV 
{dYo`H$

	 74.	 BZ_| go amÁ`nmb H$s {dYm`r epŠV H$m¡Z-gr h¡ ?

	 (A)	 amÁ` {dYmZ_ÊS>b H$m gÌ AmhÿV H$aZm

	 (B)	 amÁ` {dYmZ_ÊS>b H$m gÌmdgmZ H$aZm

	 (C)	 amÁ` {dYmZ n[afX _| gXñ`m| H$mo Zm{_V 
H$aZm

	 (D)	 AÜ`mXoe Omar H$aZm
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	 75.	 In which Constitution Amendment Act, 
education was included in concurrent list ?

	 (A)	 39th	 (B)	 40th

	 (C)	 41st	 (D)	 42nd

	 76.	 Match the following sites of Indus 
Valley Civilization with rivers on the 
banks of which they are situated.

	 i.	 Lothal	 a.	 Indus
	 ii.	 Ropar	 b.	 Saraswati
	 iii.	 Chahundaro	 c.	 Bhogava
	 iv.	 Banawali	 d.	 Sutlej

	 	 i	 ii	 iii	 iv
	 (A)	 d	 c	 a	 b
	 (B)	 c	 d	 a	 b
	 (C)	 b	 a	 d	 c
	 (D)	 a	 d	 c	 b

	 77.	 Who of the following performed the 
‘Aswamedha’ Sacrifice for Pushyamitra 
Sunga ?

	 (A)	 Patanjali	 (B)	 Panini
	 (C)	 Vashistha	 (D)	 Aswaghosha

	 78.	 Which of the following pair (author and 
work during the Sultanate period) is not 
correct ?

	 (A)	 Hasan Nizami	 –	 Tajul Masir
	 (B)	 Ziauddin Barani	 –	 Fatwa-i- 		

		  Jahandari
	 (C)	 Isami	 –	 Futuh-us-	

		  Salatin
	 (D)	 Ibn Batuta	 –	 Tughlaq 		

		  Nama

	 75.	 {ejm H$mo g§{dYmZ Ho$ {H$g g§emoYZ A{Y{Z`_ 
go g_dVu gyMr _| em{_b {H$`m J`m ?

	 (A)	 39 dm±	 (B)	 40 dm±
	 (C)	 41 dm±	 (D)	 42 dm±

	 76.	 {gÝYw KmQ>r gä`Vm Ho$ {ZåZ{b{IV ñWmZm| H$mo Z{X`m| Ho$ 
gmW gw_o{bV H$s{OE {OZHo$ {H$Zmao na ò pñWV h¡ &

	 i.	 bmoWb	 a.	 {gÝYw
	 ii.	 amon‹S>	 b.	 gañdVr
	 iii.	 MhþÝX‹S>mo	 c.	 ^moJdm
	 iv.	 ~Zmdbr	 d.	 gVbO

		  i	 ii	 iii	 iv
	 (A)	 d	 c	 a	 b
	 (B)	 c	 d	 a	 b
	 (C)	 b	 a	 d	 c
	 (D)	 a	 d	 c	 b

	 77.	 {ZåZ{b{IV _| go {H$gZo nwî`{_Ì ew§J Ho$ {bE 
"Aíd_oY' `k H$m g§MmbZ {H$`m Wm ?

	 (A)	 nV§O{b	 (B)	 nm{UZr
	 (C)	 d{eîR>	 (D)	 AídKmof

	 78.	 {ZåZ{b{IV _| go H$m¡Z-gr Omo‹S>r (gbVZV H$mbrZ 
boIH$ Ed§ CgH$s H¥${V) gw_o{bV Zht h¡ ?

	 (A)	 hgZ {ZOm_r	 -	 VmOwb _mgra
	 (B)	 {O`mD$ÔrZ ~aZr	 -	 \$Vdm-E- 		

		  Ohm§Xmar

	 (C)	 B©gm_r	 -	 \w$Vwh-Cg-		
		  gbmVrZ

	 (D)	 BãZ ~VyVm	 -	 VwµJbH$ Zm_m



a\$  H$m`©  Ho$ {bE ñWmZ
Space for Rough Work

		  	 01223/NC – NJ/RCE – M

	 -17-	 Set-A

	 79.	 With whom of the following the British 
concluded the Treaty of Mandasor in 
1818 ?

	 (A)	 Peshwa Baji Rao II
	 (B)	 Daulat Rao Sindhia
	 (C)	 Malhar Rao Holkar II
	 (D)	 Appa Sahib

	 80.	 Which of the following pair (British Viceroy 
and events) is correctly matched ?

	 (A)	 Lord Chelmsford – Coronation 
darbar of King George V and 
Queen Mary at Delhi

	 (B)	 Lord Reading – Rowlatt Act and 
Jallianwala Bagh Massacre

	 (C)	 Lord Wavell – INA trial and Naval 
Mutiny

	 (D)	 Lord Mountbatten – Formation of 
Constituent Assembly

	 81.	 Chlorination is a process for water 
purification. When chlorine is added to 
water, the disinfecting action of chlorine 
is mainly due to the formation of 

	 (A)	 Hydrochloric acid
	 (B)	 Hypochlorous acid
	 (C)	 Nascent oxygen
	 (D)	 Hydrogen gas

	 82.	 Which one of the following organs 
breaks fat to produce cholesterol ?

	 (A)	 Intestine	 (B)	 Liver
	 (C)	 Lungs	 (D)	 Kidney
	 83.	 The minimum age required to contest 

election of President of India
	 (A)	 23 years	 (B)	 21 years
	 (C)	 35 years	 (D)	 25 years

	 79.	 {ZåZ{b{IV _| go {H$gHo$ gmW A§J«oOm| Zo 1818 _| 
_§Xgm¡a H$s g§{Y H$s Wr ?

	 (A)	 noídm ~mOramd {ÛVr`
	 (B)	 Xm¡bV amd qg{Y`m
	 (C)	 _ëhma amd hmoëH$a {ÛVr`
	 (D)	 Aßnm gmho~

	 80.	 {ZåZ{b{IV _| go H$m¡Z-gm Omo‹S>r ({~«{Q>e dmBgam` 
Am¡a KQ>ZmE±) ghr gw_o{bV h¡ ?

	 (A)	 bmS>© Moåg\$moS>© - {Xëbr _| amOm OmO© n§M_ 
Ed§ amZr _oar H$m amÁ`m{^foH$ Xa~ma

	 (B)	 bmS>© arqS>J-am¡bQ> H$mZyZ Ed§ O{b`m§dmbm 
~mJ hË`mH$m§S>

	 (C)	 bmS>© dodob-AmOmX qhX \$m¡O _wH$X_m Ed§ 
Zm¡goZm {dÐmoh

	 (D)	 bmS>© _mD§$Q>~oQ>Z-g§{dYmZ g^m H$m JR>Z

	 81.	 ŠbmoarZrH$aU Ob ew{ÕH$aU H$s EH$ à{H«$`m h¡ & 
O~ ŠbmoarZ H$mo Ob _| {_bm`m OmVm h¡, ŠbmoarZ 
H$s g§H«$_U a{hV {H«$`m H$m _w»` H$maU {ZåZ H$m 
{Z_m©U h¡

	 (A)	 hmBS´>moŠbmo[aH$ Aåb
	 (B)	 hmBnmoŠbmoag Aåb
	 (C)	 ZdOmV AmŠgrOZ
	 (D)	 hmBS´>moOZ J¡g

	 82.	 {ZåZ AmJ©Zm| _| go H$m¡Z-gm EH$ AmJ©Z dgm {dK{Q>V 
H$a H$moboñQ>oamb CËnÝZ H$aVm h¡ ?

	 (A)	 Am±V	 (B)	 {bda
	 (C)	 b§½g	 (D)	 {H$S>Zr
	 83.	 ^maV Ho$ amîQ´>n{V H$m MwZmd b‹S>>Zo Ho$ {bE dm§{N>V 

Ý`yZV_ Am`w h¡
	 (A)	 23 df©	 (B)	 21 df©
	 (C)	 35 df©	 (D)	 25 df©
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	 84.	 Under which Article a state of National 
Emergency is declared in India ?

	 (A)	 Article 352
	 (B)	 Article 356
	 (C)	 Article 358
	 (D)	 None of the above

	 85.	 Right to equality before law is provided 
in which Article of Constitution of India ?

	 (A)	 Article 13	 (B)	 Article 14
	 (C)	 Article 15	 (D)	 Article 21

	 86.	 Who of the following Gupta emperor 
assumed the title ‘Vikramaditya’ ?

	 (A)	 Chandragupta I
	 (B)	 Samudragupta 
	 (C)	 Chandragupta II
	 (D)	 Skandagupta

	 87.	 Which of the following battle was fought 
during the reign of Peshwa Balaji Bajirao ?

	 (A)	 First Battle of Panipat
	 (B)	 Second Battle of Panipat
	 (C)	 Third Battle of Panipat
	 (D)	 Battle of Talikota

	 88.	 At which of the following place the 
famous I. N. A. trial took place ?

	 (A)	 Red Fort, Delhi
	 (B)	 Victoria Memorial, Calcutta
	 (C)	 Red Fort, Agra
	 (D)	 Victoria Terminus, Bombay

	 89.	 The height of the highest Peak of 
Aravalli Hills is

	 (A)	 1722 Metre	 (B)	 1723 Metre
	 (C)	 1822 Metre	 (D)	 1823 Metre

	 84.	 {H$g AZwÀN>oX Ho$ A§VJ©V ^maV _| amîQ´>r` AmnmV 
H$s pñW{V Kmo{fV H$s OmVr h¡ ?

	 (A)	 AZwÀN>oX 352
	 (B)	 AZwÀN>oX 356
	 (C)	 AZwÀN>oX 358
	 (D)	 CŠV _| go H$moB© Zht

	 85.	 ^maVr` g§{dYmZ Ho$ {H$g AZwÀN>oX Ho$ A§VJ©V H$mZyZ 
Ho$ g_j g_mZVm H$m àmdYmZ {H$`m J`m h¡ ?

	 (A)	 AZwÀN>oX 13	 (B)	 AZwÀN>oX 14
	 (C)	 AZwÀN>oX 15	 (D)	 AZwÀN>oX 21

	 86.	 {ZåZ{b{IV _| go {H$g JwßV g_«mQ> Zo "{dH«$_m{XË`>' 
H$s Cnm{Y YmaU H$s Wr ?

	 (A)	 MÝÐJwßV àW_
	 (B)	 g_wÐJwßV
	 (C)	 MÝÐJwßV {ÛVr`
	 (D)	 ñH$ÝXJwßV

	 87.	 noídm ~mbmOr ~mOramd Ho$ emgZH$mb _| 
{ZåZ{b{IV _| go H$m¡Z-gm `wÕ b‹S>m J`m ?

	 (A)	 nmZrnV H$m àW_ `wÕ
	 (B)	 nmZrnV H$m {ÛVr` `wÕ
	 (C)	 nmZrnV H$m V¥Vr` `wÕ
	 (D)	 VmbrH$moQ> H$m `wÕ

	 88.	 {ZåZ{b{IV _| go {H$g ñWmZ na à{gÕ AmµOmX 
{hÝX \$m¡O _wH$X_m hþAm ?

	 (A)	 bmb {H$bm, {X„r
	 (B)	 {dŠQ>mo[a`m _o_mo[a`b, H$bH$Îmm
	 (C)	 bmb {H$bm, AmJam
	 (D)	 {dŠQ>mo[a`m Q>{_©Zg, ~å~B©

	 89.	 Aamdbr nd©V H$s gdm}ÀM {eIa H$s D±$MmB© h¡

	 (A)	 1722 _rQ>a	 (B)	 1723  _rQ>a

	 (C)	 1822 _rQ>a	 (D)	 1823 _rQ>a
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	 90.	 In which state female literacy is 
lowest ?

	 (A)	 Uttar Pradesh	 (B)	 Jharkhand
	 (C)	 Rajasthan	 (D)	 Bihar

	 91.	 Economic growth rate means 

	 (A)	 Gross Domestic Product Growth 
Rate

	 (B)	 Net Domestic Product Growth 
Rate

	 (C)	 Per Capita Income Growth Rate
	 (D)	 Per Capita Gross Domestic 

Product Growth Rate

	 92.	 70% of working population of India is 
engaged in

	 (A)	 Primary sector
	 (B)	 Secondary sector
	 (C)	 Tertiary sector
	 (D)	 None of the above

	 93.	 Who is called as father of Economics ?
	 (A)	 Adam Smith
	 (B)	 Max Muller
	 (C)	 Karl Marx
	 (D)	 Joan Robinson

	 94.	 India has

	 (A)	 Socialistic Economy
	 (B)	 Capitalistic Economy

	 (C)	 Mixed Economy
	 (D)	 Free Economy

	 90.	 {H$g amÁ` _| ñÌr gmjaVm g~go H$_ h¡ ?

	 (A)	 CÎma àXoe _|	 (B)	 PmaIÊS> _|
	 (C)	 amOñWmZ _|	 (D)	 {~hma _|

	 91.	 Am{W©H$ g§d¥{Õ Xa H$m A{^àm` h¡

	 (A)	 gH$b Kaoby CËnmX Ho$ _yë` H$s  
d¥{Õ Xa

	 (B)	 {dewÕ Kaoby CËnmX Ho$ _yë` H$s  
d¥{Õ Xa

	 (C)	 à{V ì`pŠV Am` _| d¥{Õ Xa

	 (D)	 à{V ì`pŠV gH$b Kaoby CËnmX Ho$ _yë` _| 
d¥{Õ Xa

	 92.	 ^maV H$s H$m`©erb OZg§»`m H$m 70% _____ 
_| g§b½Z h¡ &

	 (A)	 àmW{_H$ joÌ
	 (B)	 {ÛVr`H$ joÌ
	 (C)	 V¥Vr`H$ joÌ
	 (D)	 CŠV _| go H$moB© Zht

	 93.	 AW©emñÌ H$m OZH$ {H$go H$hm OmVm h¡ ?
	 (A)	 ES>_ pñ_W
	 (B)	 _¡Šg _yba
	 (C)	 H$mb© _mŠg©
	 (D)	 Om°Z am°{~ÝgZ

	 94.	 ^maV _| _______ h¡ &

	 (A)	 g_mOdmXr AW©ì`dñWm
	 (B)	 ny±OrdmXr AW©ì`dñWm

	 (C)	 {_{lV AW©ì`dñWm
	 (D)	 _wŠV AW©ì`dñWm
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	 95.	 The top priority of second five year 
plan was

	 (A)	 Expanding agriculture
	 (B)	 Strengthening industry
	 (C)	 Removing poverty
	 (D)	 Generating employment

	 96.	 Primary production from the  
following is

	 (A)	 Cotton production
	 (B)	 Production of cotton textile
	 (C)	 Sugar production
	 (D)	 Iron and Steel production

	 97.	 Mikir Hill is situated in which State ?
	 (A)	 Arunachal Pradesh
	 (B)	 Assam
	 (C)	 Sikkim
	 (D)	 Tripura

	 98.	 Which of the following pass is situated 
in Sikkim ?

	 (A)	 Burzil	 (B)	 Zoji la
	 (C)	 Jelep La	 (D)	 Banihal

	 99.	 In which river Shivasamudram Fall is 
situated ?

	 (A)	 Kaveri	 (B)	 Krishna
	 (C)	 Bhima	 (D)	 Tungabhadra

	100.	 Which Municipal Corporation is made 
up of two cities ?

	 (A)	 Kolkata – Hugli
	 (B)	 Meerut – Saharanpur
	 (C)	 Hoogly – Dharwad
	 (D)	 None of the above

	 95.	 Xÿgar n§Mdfu` `moOZm H$s erf© àmW{_H$Vm Wr

	 (A)	 H¥${f H$m {dñVma
	 (B)	 CÚmoJm| H$m gwÑ‹T>rH$aU
	 (C)	 Jar~r hQ>mZm
	 (D)	 amoOJma g¥OZ

	 96.	 {ZåZm§{H$V _| àmW{_H$ CËnmXZ h¡

	 (A)	 H$nmg H$m CËnmXZ
	 (B)	 gyVr dñÌ H$m CËnmXZ
	 (C)	 eŠH$a H$m CËnmXZ
	 (D)	 bmoh Am¡a BñnmV CËnmXZ

	 97.	 {_{H$a nhm‹S>r {H$g amÁ` _| pñWV h¡ ?
	 (A)	 AéUmMb àXoe
	 (B)	 Ag_
	 (C)	 {gpŠH$_
	 (D)	 {Ìnwam

	 98.	 H$m¡Z-gm Xam© {gpŠH$_ amÁ` _| pñWV h¡ ?

	 (A)	 ~w{O©b	 (B)	 Omo{O bm
	 (C)	 Oobon bm	 (D)	 ~{Zhmb

	 99.	 {edmg_wÐ_ Ob ànmV {H$g ZXr na pñWV h¡ ?

	 (A)	 H$mdoar>	 (B)	 H¥$îUm
	 (C)	 ^r_m	 (D)	 Vw§J^Ðm

	100.	 H$m¡Z-gm ZJa {ZJ_ Xmo ZJam| H$mo {_bmH$a  
~Zm h¡ ?

	 (A)	 H$bH$Îmm - hþJbr
	 (B)	 _oaR>-ghmaZnwa
	 (C)	 hþJbr-Ymadm‹S>
	 (D)	 CnamoŠV _| go H$moB© Zht
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	101.	 Who is the India’s first Chief of 
Defence Staff ?

	 (A)	 Bikram Singh
	 (B)	 Bipin Rawat
	 (C)	 Manoj Mukund Naravane
	 (D)	 V. K. Singh

	102.	 Who amongst the following was given 
Dada Saheb Phalke Award in the year 
2021 ?

	 (A)	 Vinod Khanna

	 (B)	 Rajnikanth 

	 (C)	 Amitabh Bacchan

	 (D)	 Kasinathuni Vishwanath

	103.	 2019’s Padma Shri Award recipient 
of this State Anup Ranjan Pandey is 
associated with which field ?

	 (A)	 Social work
	 (B)	 Arts
	 (C)	 Literature and Education
	 (D)	 Trade and Industry

	104.	 16th G-20 summit was organized in 
which of the following country ?

	 (A)	 Italy	 (B)	 Indonesia
	 (C)	 India	 (D)	 Brazil

	105.	 Organization of 12th Junior World cup 
hockey is proposed in which of the 
following place ?

	 (A)	 New Delhi	 (B)	 Bengaluru
	 (C)	 Hyderabad	 (D)	 Bhubaneshwar

	101.	 ^maV Ho$ nhbo Mr\$ Am°\$ {S>\|$g ñQ>m\$ H$m¡Z h¢ ?

	 (A)	 {dH«$_ qgJ
	 (B)	 ~r{nZ amdV
	 (C)	 _ZmoO _wHw$ÝX ZmamdZo

	 (D)	 ìhr. Ho$. qgJ

	102.	 df© 2021 _| XmXm gmhm~ \$mëHo$ nwéñH$ma {ZåZ _| 
go {H$go {X`m J`m ?

	 (A)	 {dZmoX IÝZm

	 (B)	 aOZrH$mÝV

	 (C)	 A{_Vm^ ~ÀMZ

	 (D)	 H$grZWwZr {dídZmW

	103.	 2019 _o§ nX²_lr nwéñH$ma àmßV Bg amÁ` Ho$ AZyn 
a§OZ nm§S>o {H$g joÌ go g§~§{YV h¢ ?

	 (A)	 gm_m{OH$ H$m`©

	 (B)	 H$bm

	 (C)	 gm{hË` Ed§ {ejm
	 (D)	 ì`mnma Ed§ CÚmoJ

	104.	 16 d| G-20 gå_obZ H$m Am`moOZ {ZåZ _| go 
{H$g Xoe _| {H$`m J`m ?

	 (A)	 BQ>br	 (B)	 BÊS>moZo{e`m
	 (C)	 ^maV	 (D)	 ~«m{µOb

	105.	 12 d| Oy{Z`a {díd H$n hm°H$s H$m Am`moOZ {ZåZ 
_| go {H$g ñWmZ na àñVm{dV h¡ ?

	 (A)	 ZB© {Xëbr	 (B)	 ~|Jmbwé
	 (C)	 h¡Xam~mX	 (D)	 ^wdZoída
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	106.	 Radhe Shyam Barle of this State is 
awarded with Padma Shri Award in 
2021, belongs to which field ?

	 (A)	 Literature and Education
	 (B)	 Social Work
	 (C)	 Art
	 (D)	 Agriculture

	107.	 In 2021, Damon Galgut was selected 
for which of the following prize ?

	 (A)	 Nobel Prize
	 (B)	 Booker Prize
	 (C)	 Padma Vibhushan
	 (D)	 Pulitzer Award

	108.	 Which position was secured by India in 
the 2021 olympic games medal tally ?

	 (A)	 33rd	 (B)	 39th

	 (C)	 48th	 (D)	 51st

	109.	 Which of the following country is not 
included in QUAD countries ?

	 (A)	 United States of America
	 (B)	 Japan
	 (C)	 India 
	 (D)	 France

	110.	 COP 26 is associated with which of the 
following ?

	 (A)	 Trade	 (B)	 Education
	 (C)	 Climate	 (D)	 COVID

	111.	 Nobel prize of 2021 was given to 
Abdul Razak Gurnah for which of the 
following ?

	 (A)	 Peace	 (B)	 Literature
	 (C)	 Medicine	 (D)	 Economics

	106.	 Bg amÁ` Ho$ amYo í`m_ ~mabo H$mo {H$g joÌ Ho$ {bE 
2021 Ho$ nX²_lr nwéñH$ma go gå_m{ZV {H$`m J`m ?

	 (A)	 gm{hË` Ed§ {ejm
	 (B)	 gm_m{OH$ H$m`©
	 (C)	 H$bm
	 (D)	 H¥${f

	107.	 2021 _| S>o_Z J¡bJQ> H$mo {ZåZ _| go {H$g nwéñH$ma 
Ho$ {bE MwZm J`m ?

	 (A)	 Zmo~ob nwéñH$ma
	 (B)	 ~wH$a nwéñH$ma
	 (C)	 nX²_ {d^yfU
	 (D)	 nw{bËOa nwéñH$ma

	108.	 2021 _| Am`mo{OV AmobpånH$ Iobm| _| ^maV H$mo 
nXH$ gyMr _| H$m¡Z-gm ñWmZ àmßV hþAm ?

	 (A)	 33 dm± >	 (B)	 39 dm± >
	 (C)	 48 dm± >	 (D)	 51 dm± >

	109.	 {ZåZ _| go H$m¡Z-gm Xoe ŠdmS> Xoem| _| gpå_{bV 
Zht h¡ ?

	 (A)	 g§`wŠV amîQ´> A_o[aH$m
	 (B)	 OmnmZ
	 (C)	 ^maV
	 (D)	 \«$mÝg

	110.	 H$mn 26 H$m g§~§Y {ZåZ _| go {H$ggo h¡ ?

	 (A)	 ì`mnma	 (B)	 {ejm
	 (C)	 Obdm`w	 (D)	 H$mo{dS>

	111.	 2021 H$m Zmo~ob nwéñH$ma AãXþb aÁOmH$ JwZm©h> 
H$mo {ZåZ _| go {H$gHo$ {bE {X`m J`m ?

	 (A)	 em§{V	 (B)	 gm{hË`
	 (C)	 Am¡fYr	 (D)	 AW©emñÌ
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	112.	 Who amongst the following has been 
appointed as a Head Coach of Indian 
Cricket team ?

	 (A)	 Rahul Dravid
	 (B)	 Sourav Ganguly
	 (C)	 V. V. S. Laxman
	 (D)	 Anil Kumble

	113.	 Who is the Present Chief Justice of 
High Court of this State ?

	 (A)	 Prashant Kumar Mishra

	 (B)	 Arup Kumar Goswami

	 (C)	 P. R. Ramchandra Menon

	 (D)	 None of the above

	114.	 Which award was given to the 
		  Chhattisgarh State Co-operative Bank 

in Rajya Alankaran Awards of 2021 ?

	 (A)	 Thakur Pyare Lal Singh Award

	 (B)	 Pt. Ravi Shankar Shukla Award

	 (C)	 Guru Ghasi Das Award

	 (D)	 Minimata Award

	115.	 Aim of Roka-Chheka Abhiyan of 
this State was to save which of the 
following ?

	 (A)	 To forest	

	 (B)	 To kharif crop

	 (C)	 To soil	

	 (D)	 To water

 

	112.	 {ZåZ _| go {H$go ^maVr` {H«$Ho$Q> Q>r_ H$m hoS> H$moM 
{Z`wŠV {H$`m J`m h¡ ?

	 (A)	 amhþb Ð{dS>

	 (B)	 gm¡ad Jm§Jybr
	 (C)	 ìhr. ìhr. Eg. bú_U
	 (D)	 A{Zb Hw§$~bo

	113.	 Bg amÁ` Ho$ CÀM Ý`m`mb` _| dV©_mZ _w»` 
Ý`m`mYre H$m¡Z h¡§ ?

	 (A)	 àemÝV Hw$_ma {_lm

	 (B)	 Aén Hw$_ma Jmoñdm_r

	 (C)	 nr. Ama. am_MÝÐ _oZZ

	 (D)	 Cn`w©ŠV _| go H$moB© Zht

	114.	 2021 Ho$ amÁ` Ab§H$aU nwéñH$ma _| N>ÎmrgJ‹T>> 
amÁ` ghH$mar ~¢H$ H$mo H$m¡Z-gm nwéñH$ma {X`m J`m ?

	 (A)	 R>mHw$a ß`mao bmb qgh gå_mZ

	 (B)	 n§. a{de§H$a ewŠb gå_mZ

	 (C)	 Jwé Kmgr Xmg gå_mZ

	 (D)	 {_Zr_mVm gå_mZ

	115.	 Bg amÁ` _| amoH$m-N>oH$m A{^`mZ H$m CÔoí` {ZåZ 
_| go {H$go gwajm àXmZ H$aZm Wm ?

	 (A)	 dZm| H$mo	

	 (B)	 Iar\$ \$gbm| H$mo

	 (C)	 _¥Xm H$mo	

	 (D)	 Ob H$mo
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	116.	 Which of these is not a Standing 
Committee of Zila Panchayat ?

	 i.	 General Administration 
Committee

	 ii.	 SC-ST-OBC Committee

	 iii.	 Women Welfare Committee

	 iv.	 Social Welfare Committee

	 v.	 Agriculture Committee

	 vi.	 Education Committee

	 (A)	 i,  ii,  iii

	 (B)	 ii,  iii,  iv

	 (C)	 iii,  iv,  v

	 (D)	 iv,  v,  vi

	117.	 On which price common grade paddy 
is purchased by this State Government 
in the year 2019 – 2020 ?

	 (A)	 Rs. 2,500/- per quintal
	 (B)	 Rs. 1,815/- per quintal
	 (C)	 Rs. 1,730/- per quintal
	 (D)	 Rs. 1,835/- per quintal

	118.	 What are ‘‘Allied Sectors’’ of 
Agriculture ?

	 (A)	 Animal Husbandry
	 (B)	 Forestry
	 (C)	 Fishery
	 (D)	 All the above

	116.	 BZ_| go H$m¡Z-gr {Obm n§Mm`V H$s ñWm`r g{_{V 
Zht h¡ ?

	 i.	 gm_mÝ` àemgZ g{_{V

	 ii.	 AOm-AOOm-A{nd g{_{V

	 iii.	 _{hbm H$ë`mU g{_{V

	 iv.	 gm_m{OH$ H$ë`mU g{_{V
	 v.	 H¥${f g{_{V

	 vi.	 {ejm g{_{V

	 (A)	 i,  ii,  iii

	 (B)	 ii,  iii,  iv

	 (C)	 iii,  iv,  v

	 (D)	 iv,  v,  vi

	117.	 df© 2019 – 2020 _| Bg amÁ` gaH$ma Zo {H$g 
H$s_V na gm_mÝ` J«oS> YmZ H$s IarXr H$s h¡ ?

	 (A)	 é. 2,500/- à{V pŠd¨Q>b>

	 (B)	 é. 1,815/- à{V pŠd¨Q>b

	 (C)	 é. 1,730/- à{V pŠd¨Q>b
	 (D)	 é. 1,835/- à{V pŠd¨Q>b 

	118.	 H¥${f Ho$ ""gå~Õ joÌ'' Š`m h¢ ?

	 (A)	 newnmbZ
	 (B)	 dm{ZH$s

	 (C)	 _Ëñ`nmbZ

	 (D)	 Cn`w©ŠV g^r
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	119.	 Match the following awards of this state 
with their areas.

	 i.	 Raja Chakradhar	 a.	Folk Art
		   Singh Award

	 ii.	 Dau Mandaraji 	 b.	Music and
		  Award		 Art

	 iii.	 Gundadhur 	 c.	Sports
		  Award

	 iv.	 Sunderlal 	 d.	 Literature
		  Sharma Award

		  i	 ii	 iii	 iv

	 (A)	 c	 d	 a	 b
	 (B)	 a	 b	 c	 d
	 (C)	 b	 a	 c	 d
	 (D)	 d	 a	 c	 b

	120.	 Who of the following person of this 
State assumed the temporary charge 
of Governor of the Central provinces 
in May 1936 ?

	 (A)	 Pt. Ravishankar Shukla

	 (B)	 Thakur Chhedi Lal

	 (C)	 E. Raghavendra Rao

	 (D)	 Ghanshyam Singh Gupta

	119.	 Bg amÁ` Ho$ {ZåZ{b{IV nwañH$mam| H$mo CZHo$ joÌm| 
Ho$ gmW gw_o{bV H$s{OE &

	 i.	 amOm MH«$Ya qgh	 a.	 bmoH$ H$bm
		  nwañH$ma

	 ii.	 XmD$ _§XamOr 	 b.	 g§JrV Ed§ H$bm

		  nwañH$ma

	 iii.	 Jw§S>mYya nwañH$ma	 c.	 Iob>

	 iv.	 gw§Xabmb e_m©	 d.	 gm{hË`
		  nwañH$ma

		  i	 ii	 iii	 iv

	 (A)	 c	 d	 a	 b

	 (B)	 a	 b	 c	 d
	 (C)	 b	 a	 c	 d
	 (D)	 d	 a	 c	 b

	120.	 Bg amÁ` Ho$ {ZåZ{b{IV _| go {H$g ì`pŠV Zo _B© 

1936 _| _Ü`àm§V Ho$ JdZ©a H$m AñWm`r H$m`©^ma 

J«hU {H$`m Wm ?

	 (A)	 n§. a{de§H$a ewŠb

	 (B)	 R>mHw$a N>oXrbmb

	 (C)	 B©. amKdoÝÐ amd

	 (D)	 KZí`m_ qgh JwßV 



		  	 01223/NC – NJ/RCE – M

	 -26-	 Set-A

a\$  H$m`©  Ho$ {bE ñWmZ
Space for Rough Work

	121.	 Which of the following pair (Forest 
Satyagrahas in this State during the 
civil disobedience movement and their 
leaders) is not correctly matched ?

	 (A)	 Gattasilli Forest	–	 Narayan Rao
		   Satyagraha 		  Meghawale

	 (B)	 Rudri-Nawagaon	–	 Babu 
		  Forest 		  Chhote 	
		  Satyagraha 		  Lal

	 (C)	 Tamora Forest	 –	Y ati Yatanlal
		  Satyagraha 		  Jain

	 (D)	 Mohabana-	 –	 V.Y. Tamaskar
		  Pondi Forest 
		  Satyagraha 

	122.	 What is the percentage of forest 
covered area in our State as per Forest 
Survey of India Report, 2019 ?

	 (A)	 44.2%	 (B)	 43.5%

	 (C)	 42.8%	 (D)	 41.13%

	123.	 ‘Thapari dance’ is the which tribal 
community of this State ?

	 (A)	 Koraku	 (B)	 Baiga
	 (C)	 Muriya	 (D)	 Dhurva

	124.	 In which month ‘Akti Tihar’ of this State 
is celebrated ?

	 (A)	 Kartik	 (B)	 Maagh
	 (C)	 Falgun	 (D)	 Baishakh

	125.	 In which district Madaku Island is 
located ?

	 (A)	 Mungeli	 (B)	Bilaspur
	 (C)	 Baloda Bazar	 (D)	Raipur

	121.	 {ZåZ{b{IV _| go H$m¡Z-gr Omo‹S>r (g{dZ` Adkm 
Am§XmobZ Ho$ Xm¡amZ Bg amÁ` _| hþE O§Jb gË`mJ«h 
Ed§ CZHo$ ZoVm) gw_o{bV Zht h¡ ?

	 (A)	 JQ²Q>m{gëbr	 – 	 Zmam`U amd 
		  O§Jb gË`mJ«h		  _oKmdmbo
	 (B)	 éÐr-ZdmJm§d	 –	 ~m~y N>moQ>obmb

		  O§Jb gË`mJ«h

	 (C)	 V_moam O§Jb	 –	 `{V `VZbmb O¡Z
		  gË`mJ«h
	 (D)	 _moh~Zm-nm|S>r	 –	 ìhr.dm`. Vm_ñH$a
		  O§Jb gË`mJ«h

	122.	 df© 2019 H$s \$maoñQ> gd} Am°\$ B§{S>`m [anmoQ>© 
Ho$ AZwgma h_mao amÁ` _| dZmoÀN>m{XV joÌ H$m 
à{VeV Š`m h¡ ?

	 (A)	 44.2 à{VeV	 (B)	 43.5 à{VeV

	 (C)	 42.8 à{VeV	 (D)	 41.13 à{VeV

	123.	 ‘Wmn‹S>r Z¥Ë`’ Bg amÁ` Ho$ {H$g OZOm{V g_wXm` 
H$m h¡ ?

	 (A)	 H$moaHw$	 (B)	 ~¡Jm
	 (C)	 _w[a`m	 (D)	 Ywédm

	124.	 Bg amÁ` H$m ‘ApŠV {Vhma’ {H$g _{hZo _| _Zm`m 
OmVm h¡ ?

	 (A)	 H$m{V©H$	 (B)	 _mK
	 (C)	 \$mJwZ (\$ëJwZ)	 (D)	 ~¡emI

	125.	 _XHy$ Ûrn {H$g {Obo _| pñWV h¡ ?

	 (A)	 _w§Jobr	 (B)	 {~bmgnwa
	 (C)	 ~bm¡Xm ~mµOma	 (D)	 am`nwa
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	126.	 In which district Nadapalli cave is 
located ?

	 (A)	 Sukma	 (B)	 Dantewada
	 (C)	 Narayanpur	 (D)	 Bijapur

	127.	 Who makes law under the Delegated 
Legislation ?

	 (A)	 Parliament	 (B)	 Executive
	 (C)	 Judiciary	 (D)	 President

	128.	 Who of the following woman hand- ball 
player of this State had received Vikram 
Award for 1994 – 95 ?

	 (A)	 Prabha Nayar
	 (B)	 M. Vijaya Reddy
	 (C)	 Neeta Dumre
	 (D)	 Shabana Qureshi

	129.	 Which of the following pair (first 
dignitary of this State and his name) 
is correctly matched ?

	 (A)	 First Governor	–	 Lt. General  
K. M. Seth

	 (B)	 First Director	 –	 Mr. Mohan
		  General of 		  Shukla
		  Police	  
	 (C)	 First Chief	 –	 Ajay Kumar 
		  Secretary 		  Singh

	 (D)	 First Chief	  –	 Mr. R. S. Garg
		  Justice of 
		  High Court

	130.	 In which district Kathiya Pachri 
limestone area is situated ?

	 (A)	 Janjgir – Champa

	 (B)	 Bilaspur
	 (C)	 Baloda Bazar
	 (D)	 Raipur

 

	126.	 ZS>mnëbr Jw\$m {H$g {Obo _| pñWV h¡ ?

	 (A)	 gwH$_m	 (B)	 XÝVodm‹S>m
	 (C)	 Zmam`Unwa	 (D)	 ~rOmnwa

	127.	 àXÎm {dYm`Z Ho$ AÝVJ©V H$mZyZ H$m¡Z ~ZmVm h¡ ?

	 (A)	 g§gX	 (B)	 H$m`©nm{bH$m
	 (C)	 Ý`m`nm{bH$m	 (D)	 amîQ´>n{V

	128.	 Bg amÁ` H$s {ZåZ{b{IV _| go {H$g _{hbm h¢S>~mb 
{Ibm‹S>r H$mo df© 1994 – 95 H$m {dH«$_ nwañH$ma 
àmßV hþAm ?

	 (A)	 à^m Zm`a
	 (B)	 E_. {dO`m aoS²>S>r
	 (C)	 ZrVm Sw>_ao
	 (D)	 e~mZm Hw$a¡er

	129.	 {ZåZ{b{IV _| go H$m¡Z-gr Omo‹S>r (Bg amÁ` Ho$ 
àW_ _hmZw^md Ed§ CZH$m Zm_) gw_o{bV h¡ ?

	 (A)	 àW_ amÁ`nmb	 –	 bopâQ>Z|Q> 
				    OZab Ho$. E_. goR>
	 (B)	 àW_ nw{bg 	 –	 lr _mohZ ewŠb
		  _hm{ZXoeH$

	 (C)	 àW_ _w»` 	 –	 AO` Hw$_ma qgh
		  g{Md

	 (D)	 CÀM Ý`m`mb` Ho$ 	–	lr Ama. Eg. JJ©
		  àW_ _w»` 
		  Ý`m`mYre

	130.	 H${R>̀ m-nMar MyZm nËWa joÌ {H$g {Obo _| pñWV h¡ ?

	 (A)	 Om§OJra-Mm§nm
	 (B)	 {~bmgnwa
	 (C)	 ~bm¡Xm ~mµOma
	 (D)	 am`nwa
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	131.	 Which of the following is not a 
powerpoint software’s view ?

	 (A)	 Presentation view
	 (B)	 Outline view
	 (C)	 Slides view
	 (D)	 Slide show view

	132.	 In an MS-word document, page number 
can be inserted in the area called

	 (A)	 Header only
	 (B)	 Paragraph
	 (C)	 Footer only
	 (D)	 Header or footer both

	133.	 Video conferencing is
	 (A)	 Conduct of telephone calls
	 (B)	 Conduct of video calls using 

telecom technology
	 (C)	 Conduct of video conference using 

a set of telescopic technology
	 (D)	 None of the above

	134.	 Which of the following allow you to 
access your e-mail from anywhere ?

	 (A)	 Forum
	 (B)	 Weblog
	 (C)	 Webmail interface
	 (D)	 Message board

	135.	 A typical acronym of reusable optical 
storage will be

	 (A)	 CD	 (B)	 CD-RW
	 (C)	 DVD	 (D)	 Floppy Disk

	136.	 DVD is
	 (A)	 Digital view Disk
	 (B)	 Dynamic versatile Disk
	 (C)	 Digital versatile Disk
	 (D)	 Dynamic video Disk

	131.	 {ZåZ _| go H$m¡Z-gm nmdanm°B§Q> gm°âQ>do`a H$m ì`y 
(Ñí`) Zht h¡ ?

	 (A)	 àoOoÝQ>oeZ ì`y
	 (B)	 AmCQ>bmBZ ì`y
	 (C)	 ñbmBS²>g ì`y
	 (D)	 ñbmBS> emo ì`y

	132.	 E_ Eg-dS>© S>mŠ ỳ_|Q> _| {Og joÌ _| noO Z§~a S>mbm 
OmVm h¡, Cgo H$hVo h¢

	 (A)	 hoS>a _mÌ
	 (B)	 n¡amJ«m\$
	 (C)	 \y$Q>a _mÌ
	 (D)	 hoS>a `m \y$Q>a XmoZm| hr

	133.	 {d{S>`mo H$mÝ\$aopÝg¨J h¡
	 (A)	 Q>obr\$moZ H$m°b H$m AmMaU
	 (B)	 Q>obrH$m°_ Q>oŠZmobm°Or Ho$ Cn`moJ go {d{S>`mo 

H$m°b H$m AmMaU
	 (C)	 Q>obrñH$mo{nH$ Q>oŠZmobm°Or Ho$ goQ> Ho$ Cn`moJ 

go {d{S>`mo H$mÝ\$aoÝg H$m AmMaU
	 (D)	 CnamoŠV _| go H$moB© Zht

	134.	 {ZåZ _| go H$m¡Z-gm Amn H$mo H$ht go ^r B©-_ob 
EŠgog H$aZo H$s AZw_{V XoVm h¢ ?

	 (A)	 \$moa_
	 (B)	 do~bm°J
	 (C)	 do~_ob BÝQ>a\o$g
	 (D)	 _¡goO ~moS>©

	135.	 [a`wgo~b Am°ßQ>rH$b ñQ>moaoO H$m g§{jßV ê$n h¡

	 (A)	 grS>r	 (B)	 grS>r-AmaS>ãë`y
	 (C)	 S>rdrS>r	 (D)	 âbm°nr {S>ñH$

	136.	 S>r.ìhr.S>r. h¡
	 (A)	 {S>{OQ>b ì`y {S>ñH$
	 (B)	 S>m`Zm{_H$ dgm©Q>mBb {S>ñH$
	 (C)	 {S>{OQ>b dgm©Q>mBb {S>ñH$
	 (D)	 S>m`Zm{_H$ dr{S>`mo {S>ñH$

PART – C/ ^mJ - J
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	137.	 The search results are generally 
presented in a line of results often 
referred to as

	 (A)	 Tag list
	 (B)	 Search Engine Pages
	 (C)	 Search Engine Result Pages
	 (D)	 Category list

	138.	 _______ is an American video-sharing 
website.

	 (A)	Y ouTube	 (B)	 Google
	 (C)	 Yahoo	 (D)	 Alta-Vista

	139.	 What is a spider ?
	 (A)	 An application for viewing 

websites
	 (B)	 A computer virus
	 (C)	 A program that catalogs websites
	 (D)	 A hacker who breaks the corporate 

computer system

	140.	 A hacker contacts your phone or 
e-mails and attempts to acquire your 
password is called

	 (A)	 Spoofing	 (B)	 Phishing
	 (C)	 Spamming	 (D)	 Bugging

	141.	 It is not a gaming console
	 (A)	 Google play	 (B)	 Xbox
	 (C)	 Play Station	 (D)	 Nintendo Wii

	142.	 Which of the following is not a category 
of frames in video compression ?

	 (A)	 B-frame	 (B)	 I-frame
	 (C)	 P-frame	 (D)	 S-frame

	143.	 How many types of printers are there ?
	 (A)	 One	 (B)	 Two
	 (C)	 Three	 (D)	 Four

	137.	 gM© n[aUm_ H$mo Am_Vm¡a na EH$ bmBZ Ho$ n[aUm_ 
Ho$ ê$n _| Xe©Zm

	 (A)	 Q>¡J {bñQ>
	 (B)	 gM© B§{OZ noOg
	 (C)	 gM© B§{OZ [agëQ> noOg
	 (D)	 H¡$Q>Jar {bñQ>

	138.	 __________ EH$ A_o[aH$Z {d{S>`mo-eo`[a¨J 
do~gmB©Q> h¡ &

	 (A)	 `y Q>çy~	 (B)	 JyJb
	 (C)	 `mhÿ	 (D)	 AëQ>m-{dñQ>m

	139.	 ñnmBS>a Š`m h¡ ?
	 (A)	 do~gmB©Q> XoIZo Ho$ {bE EH$ EßbrHo$eZ

	 (B)	 EH$ H§$ß`yQ>a dm`ag
	 (C)	 EH$ àmoJ«m_ Omo do~gmBQ>m| H$s gyMr h¡
	 (D)	 EH$ h¡H$a Omo H$manmoaoQ> H§$ß`yQ>a {gñQ>_ H$mo 

~«oH$ H$aVm h¡

	140.	 EH$ h¡H$a H$m AmnHo$ \$moZ ̀ m B©-_ob Ho$ Ûmam AmnH$m 
nmgdS>© hm{gb H$aZm Š`m H$hbmVm h¡ ?

	 (A)	 ñnyq\$J	 (B)	 {\$qgJ
	 (C)	 ñn¡q_J	 (D)	 ~qJJ

	141.	 `h EH$ Joq_J H§$gmob Zht h¡
	 (A)	 JyJb no	 (B)	 EŠg~m°Šg
	 (C)	 ßbo ñQ>oeZ	 (D)	 {ZÝQ>oÝS>mo dmB©

	142.	 {d{S>`mo Ho$ g§nrS>Z (compression) _| {ZåZ 
_| go H$m¡Z-gm \«o$_ H$m EH$ dJ© (category of 
frames) Zht h¡ ?

	 (A)	 ~r-\«o$_	 (B)	 AmB©-\«o$_
	 (C)	 nr-\«o$_	 (D)	 Eg-\«o$_

	143.	 {àÝQ>a {H$VZo àH$ma Ho$ hmoVo h¢ ?
	 (A)	 EH$	 (B)	 Xmo
	 (C)	 VrZ	 (D)	 Mma
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	144.	 Hard copy of a document is
	 (A)	 Printed on paper by printer
	 (B)	 Stored in floppy disk
	 (C)	 Stored in CD
	 (D)	 Stored in Hard disk
	145.	 It is not a mobile operating system
	 (A)	 Apple iOS
	 (B)	 Novell Netware
	 (C)	 Windows phone
	 (D)	 Google Android
	146.	 It is not an open source operating 

system software
	 (A)	 Linux	 (B)	 Firefox
	 (C)	 Open Solaris	 (D)	 Free BSD
	147.	 GPS devices can pinpoint locations by

	 (A)	 Radioactive waves
	 (B)	 Lasers
	 (C)	 Satellites
	 (D)	 None of these
	148.	 Who is the founder of Wikileaks ?
	 (A)	Tarun Tejpal	 (B)	 Julian Assange
	 (C)	Niklaus Wirth	 (D)	 Bill Gates
	149.	 Operations of inserting data through 

a computer program and taking data 
(result) out of the program is called

	 (A)	 Programming
	 (B)	 Input operation
	 (C)	 Output operation
	 (D)	 I/O operations
	150.	 Which of the following is not a processor 

of a computer system ?
	 (A)	 AMD Sempron
	 (B)	 Intel Pentium
	 (C)	 Macintosh OSx
	 (D)	 8086

	144.	 S>mŠ`y_|Q> H$m hmS>© H$mnr h¡
	 (A)	 {àÝQ>a Ûmam nona na N>nm hþAm
	 (B)	 âbm°nr {S>ñH$ _| ñQ>moa
	 (C)	 gr.S>r. _| ñQ>moa
	 (D)	 hmS>© {S>ñH$ _| ñQ>moa
	145.	 `h _mo~mBb Am°naoqQ>J {gñQ>_ Zht h¡
	 (A)	 Eßnb AmB©.Amo.Eg.
	 (B)	 Zm°dob ZoQ>do`a
	 (C)	 qdS>mog \$moZ
	 (D)	 JyJb E§S´>mBS>
	146.	 `h AmonZ gmog© Am°naoqQ>J {gñQ>_ gm°âQ>do`a  

Zht h¡
	 (A)	 {bZŠg	 (B)	 \$m`a\$m°Šg
	 (C)	 AmonZ gmobm[ag	 (D)	 \«$s ~r. Eg. S>r.

	147.	 Or.nr.Eg. CnH$aU {ZåZ Ho$ Ûmam ñWmZm| H$mo B§{JV 
({MpÝhV) H$a gH$Vo h¢

	 (A)	 ao{S>`moY_u Va§Jmo§
	 (B)	 boµOam|
	 (C)	 CnJ«hm|
	 (D)	 BZ_| go H$moB© Zht
	148.	 {dH$sbrŠg Ho$ g§ñWmnH$ H$m¡Z h¢ ?
	 (A)	 VéU VoOnmb	 (B)	 Oy{b`Z Agm§Oo
	 (C)	 {ZH$bmCg {dW©	 (D)	 {~b JoQ²>g
	149.	 EH$ H$åß ỳQ>a àmoJ«m_ Ho$ _mÜ`_ go S>mQ>m à{dîQ> H$aZm 

Ed§ àmoJ«m_ go S>mQ>m (n[aUm_) àmßV H$aZo Ho$ g§MmbZ 
H$mo H$hVo h¢

	 (A)	 àmoJ«mq_J
	 (B)	 BZnwQ> Am°naoeZ
	 (C)	 AmCQ>nwQ> Am°naoeZ
	 (D)	 AmB©/Amo Am°naoeÝg
	150.	 {ZåZ _| go H$m¡Z-gm H$åß`yQ>a {gñQ>_ H$m àmogoga 

Zht h¡ ?
	 (A)	 AMD Sempron
	 (B)	 Intel Pentium
	 (C)	 Macintosh OSx
	 (D)	 8086
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    SET –  A 

CÎma A§{H$V H$aZo H$m g_` : 3 K§Q>o	 A{YH$V_ A§H$ : 150

Time for marking answers : 3 Hours	 Maximum Marks : 150

ZmoQ> :

1.	 Bg àíZ nwpñVH$m _| {ZåZ ^mJ hm|Jo –
	 ^mJ - (H$)	 {hÝXr ì`mH$aU g{hV	 –	 1 – 10
		  gm_mÝ` A§J«oOr	 –	 11 – 20
		  gm_mÝ` J{UV	 –	 21 – 50
	 ^mJ - (I$)	(A)	 gm_mÝ` _mZ{gH$ `mo½`Vm	 –	 51 – 65
		  (~)	 gm_mÝ` kmZ	 –	 66 – 100
		  (g)	 g_gm_{`H$ KQ>ZmH«$_, IobHy$X, Xoe-{dXoe	 –	 101 – 115
		  (X)	 amÁ` H$s gm_mÝ` OmZH$mar	 –	 116 – 130
	 ^mJ - (J)	 H$åß`yQ>a H$m gm_mÝ` OmZH$mar	 –	 131 – 150

	 àË`oH$ àíZ 1 A§H$ H$m h¡ & g^r àíZ A{Zdm`© h¡ &

2.	 àíZm| Ho$ CÎma, Xr JB© OMR CÎma-erQ> (Am§ga-erQ>>) na A§{H$V H$s{OE Ÿ&

3.	 àË`oH$ JbV CÎma Ho$ {bE � A§H$ H$mQ>o Om`|Jo &

4.	 {H$gr ^r Vah Ho$ H¡$bHw$boQ>a `m bm°J Q>o~b Ed§ _mo~mBb \$moZ H$m à`moJ d{O©V h¡ Ÿ&

5.	 OMR CÎma-erQ> (Am§ga-erQ>) H$m à`moJ H$aVo g_` Eogr H$moB© AgmdYmZr Z H$a|/~aV| {Oggo `h \$Q> Om`o `m 
Cg_| _mo‹S> `m {gbdQ> Am{X n‹S> Om`o {OgHo$ \$bñdê$n dh Iam~ hmo Om`o Ÿ&

Note :

1.	 This question Booklet contains parts – 
	 Part – (A)	 Hindi with Grammar	 –	 1 – 10
		  General English	 –	 11 – 20
		  General Mathematics	 –	 21 – 50
	 Part – (B)	 (A)	 General Mental Aptitude	 –	 51 – 65
		  (B)	 General Knowledge	 –	 66 – 100
		  (C)	 Current Affairs, Sports, National-International	 –	 101 – 115
	 	 (D)	 General Knowledge of State	 –	 116 – 130
	 Part – (C)	 General Knowledge of Computer	 –	 131 – 150

	 Each question carries 1 mark. All questions are compulsory.

2.	 Indicate your answers on the OMR Answer-Sheet provided.

3.	 � mark will be deducted for each wrong answer.

4.	 Use of any type of calculator or log table and mobile phone is prohibited.

5.	 While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not get 
torn or spoiled due to folds and wrinkles.

   


